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The regional approach was developed by? 1
(A) Alexander von humboldt (B) Karl Ritter
(C) Ptolemy (D) Ibn - e — Batuta

TSR 39T foheeds garT fasfda famar o ar
(A) 3TIFoisT dldd gFaloc  (B)dlel ReX  (C)elaldAl (D) Foed-U-TcIcTl

What does we study under physical Geography? 1
(A) Weather  (B) Soil (C) Atmosphere (D) All of the above

IR $[EeT & 3T §H FAT LA F &2
() HtFgem  (B)fACE  (C)argHSH (D) 3WNFd FaiT

Which one of the following is associated with Biogeography? 1
(A) Geography (B) sociology (C) Zoology (D) climatology

el & @ &l a1 Sig e @ Fefera g2
(A) 8T (B) TATSIATES (C) ITTOY fa=Tet (D) STefarg =t

Which technique is not part of geo — informatics? 1
(A) Remote sensing  (B) G.I.S (C) G.PS (D) computer cartography
hieT AT eheileh -l TaATeT o TGEAT 8T 82
(A) ReAte GfFer (B) Si.3ms.wd. (C) S.UL.UH. (D) HegeX ety
Assertion :- | Geomorphology is sub field of physical geography. 1
Reason:- |l Geomorphology is devoted to the study of land

Forms, their evolution and related process.
(A) Both I and Il are true are is the correct explanation of |
(B) Both I and Il are true and But R is not correct explanation of |

(C) l'is correct but Il is incorrect
(D) Both are not correct

HiFFUA- 1 3R Tt i spEier &1 3ual g
HROT- || I Tt fF & i, 37 e 3R d@afaa
gfshansit & 3regas & fow gaAfla Bl

(A) 1 3R AT e § 3R |7 Ter TISEhoT §

() 13 nat g § 3R AfersT R T8y Taslaor 8T &
(C) 1 8T § oifcheT 11 3Tl &
(D) GleAT |EY AET &

Firstly life on the earth was originatedin? 1

(A) Water (B) air (C) Plains (D) All of them

t[za’rwsha?raﬁr%qﬁraéqmao—gﬁgézﬁ?
()T (B) A (C) HereT (D) Tl

Which one of the following has the longest duration? 1
(A) Eons  (B) Period (C)Era (D) Epoch

@ & ¥ frgdr 3af gad o« &2
() $30=H (B) Feq (C) #GT &ed (D) gar

According to the plate tectonic concept how many major plates 1
are there?




(A)7 (B)9 (C)12 (D)15
Tole caelfleh IHTUROT & 3R fhdell Jo@ cad &2
(A) 7 (B)9 (C)12 (D)15
Q9. The continental drift theory was promoted by? 1
(A) alftred wegner (B) otto schmidt (C) karl ritter (D) Immanuel kant

AgledIiIy fawuras f@eerd 1 fhasr derar fear
(A) 3Te3hS TR (B) 3HTeT AT (C) @Il ReX (D) AT Hic

Q10. The easternmost longitude of India is? 1
(A)97°25”E  (B) 77°6”E  (C) 68°7"E (D)82°30”E

HRA &1 G AT =M g2
(A)97°25” qd (B)77°6” qd (C)68°7” Y&  (D)82°30" &

Q11. Which strait separate India from Sri Lanka? 1
(A) Palk strait  (B) strait of Hormuz (C) Bering strait (D) Malacca strait

Pl O TISHATHET AT T ANelel T AT HLaT 872
(A) UTh STISHETHET (B) BT SToTsHTHEY

(C) IR@T STersATAET (D) FIFDI TTSHEHEY

Q12. Assertion:- | India is the 7" largest country in the world. 1
Reason :- Il India with its area of 3.28 million square

kilometer accounts for 2.4% of the world’s land
surface area.

(A) Both I and Il are true are is the correct explanation of |

(B) Both I and Il are true and But R is not correct explanation of |

(C) l'is correct but Il is incorrect

(D) Both are not correct

HYA:- | R GAAT T 7d7 T FT & §
FROT- || AR 397 3.28 TATATST 99 fheidfiey &% & a1y
gferam & offf |aE & & 2.4% TBEAT B
(A) 1 3R 18T TcT § 3R 17 TET TISEIRT §
() 13 na=t g § 3R AferT R T8y Tasiaor 8T &
(C) 1 &Y & olfehet 1197 &
(D) il HEY e &
Q13. which of the following is not the tributaries of the Indus river? 1
(A) Shyok  (B) Gilgit (C) Zaskar ~ (D)Luni

fArafafad & @ «la [y 7 Hr Tgras =4 =6 82
(A) e (B) [Pl (c) Se (D) o=

Q14. From where does the Chenab originated? 1
(A) Rohtang pass (B) khardungla (C) Nathula (D) Bara Lacha Pass

R 7Y g & fAherd 82
(A)Vgier &7 (B) @RI  (C)ATYe (D) IRT ATl &

Q15. Where is the river basin with the largest catchment area in India? 1
(A)Ganga  (B)Indus (C)Brahmaputra (D) All of them

T & a8 3T JTAIGUT 8T arell Acr ST Far g2

(A) 373 (B) g (C)seryd (D) F |sr
Q16. Which dam is built on the Narmada River? 1
(A) Bhakra dam (B) HiraKund dam

(C) NagarJuna Sagar Dam (D) sardar sarovar dam



STHET A4 IR DI IT e SATIAT IAT 82
(A) $TEIST aTeT (B) ERTEs arer
(C) AN HER &ty (D) TER TR Y

Q17. Which one of the following river is known as the sorrow of Bengal? 1
(A) Gandak  (B) Narmada  (C) Ganga (D) Damodar

eAfoiad & & i &Y SIET §9MTel T A Dol 8?
(A) 3R (B) FHET (C) 3= (D) gTHIEX

Q18. Assertion:- | the Chenab is the largest cabinetry of the Indus. 1
Reason:- |l it rises near Mhow in the Malwa Plateau of Madhya
Pradesh and flows northward through a gorge upward of . kota in Rajasthan.

(A) Both I and Il are true are is the correct explanation of |
(B) Both I and Il are true and But R is not correct explanation of |
(C) l'is correct but Il is incorrect

(D) Both are not correct

SUA:- | T Y A dr FEd T8 AL B
FROT- Il FE HEY Yol & Aleldl ISR H #Ag & I & fAcherdl & 3R Tered # Fler § 3N
T 3R TH Gy F ACIH T 3O AT 3R T8 B
(A) 1 3R 1 T § 3R 11 T FTIENRIOT &
(B) 131X 1T TcT § 31 AfesT RIFT TET TISEHIOT 8T &
(C) 1TEY & Afhed 11 3TelT &
(D) &=l |eT el &

Q19. Read the following paragraph and choose the right answer? 3

During the cooling of the earth, gases and water vapour were released from the interior solid earth. This
started the evolution of the present atmosphere. The early atmosphere largely contained water vapour, nitrogen,
carbon dioxide, methane, ammonia and very little of free oxygen. The process through which the gases were
outpoured from the interior is called degassing. Continuous volcanic eruptions contributed water vapour and gases
to the atmosphere. As the earth cooled, the water vapour released started getting condensed. The carbon dioxide in
the atmosphere got dissolved in rainwater and the temperature further decreased causing more condensation and
more rains. The rainwater falling onto the surface got collected in the depressions to give rise to oceans.

i) Where on earth did water vapor originate from?

(A) Interior of Earth  (B) outer earth

(C) both A and B (D) None of the above
ii) Which gas was Very little amount in atmosphere?

(A) nitrogen  (B) methane (C) Oxygen (D) carbon dioxide
iii) Which process had contributed in rise of ocean on the earth ?

(A) Volcano eruption (B) rainfall (C) bothaandb (D) none of the above

e IR & 9¢ 3N TG IR e



gedl & 33T Bl & SR, 3R S gl & A 3N STef arsy f¥ehel | SHE aTAT dFHSS T faehrg
UE F3M IR dgHSS H 99 YA TR ST arsy, ASgiolad, e glgm,ﬁﬂﬂ,mmﬁagﬁ
A HeFd Jierdietl ATl 5@ ufhar & Aeg®m & 3Gt T RS AT & FTET fAhrem ST 3H
SIEIT gl ST §1 SR SaTedr faehlet o agaAss # Sief arsq 3R It & Qerer= &2
S-S gt G8Y gl 918, f¥ehelal aTell STel aTsY HEfold glel ofal| argHse & Hislg Sl SIS3iarss
TR & I # g A7 R A9AET IR FA @ T A HUE Foaa 3R if0F IR g1 T
R IR arelr auT Siof 31adel & Shear gl AT 3R AGHNERT & oed feam|

i) g2l IR Serarsy Fer § AT g3

(A) 2T T ITARS 1T (B) STEdr g
(C) A 3R BE=AT (D) 3WRFT & & FIg =TgT

i) agHSE A T @ Ag 9gd HA AT o

(A) TSI (B) HNAT (C) 3TRATSIT (D) PTeiet STSIHTFATSS

iii) gl T §Hg o Seol H fha gishar &1 Aerere A

(A) SATCTHET faTwe (B) AT

(C)a 3R bkt (D) 3T F ¥ A 7

Q20. What are the three types of plate boundaries? 3
Tole WA & e YR T 82
Q21. Explain about the main features of the Indian desert? 3
TR YT # e ANt & O ¥ aar
Q22. What are the main physiography divisions of India?5
AR & e shnfaE e HaT ¥ &
Q23. Explain in brief about the effects of earthquake? 5
ST & ST & O FET F FTe?
Q24. Plot the following on the map of India:- 3

(a) Barrenisland (b) Narmada River (c) Gomukh glacier

HRA & AT W Aeafaf@d #r 3ifea #i-
() ST AT (@) Aer ALY () THW TARRR



